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Remember
When you

to a number, the 'sum
is the number itself.

9+0 =
10+0 =

ADDING THREE 2-DIGIT NUMBERS

On Tuesday 23 children, 15 women and 10 men visited

add zero

When you add I to
a number, the sum 18
the next nuimber.

Numbers can e a
in any order. Thel
will remain the sam

ddd

9 6+1= L ¥ 2+3=_35 "
\D 10+1= 41 342 =
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the zoo. How many people visited the zoo on Tuesday?

STEP | Add the ones.
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EXERCISE 21
A. Find the sum.
To TO
51 1 2
7
2
+ &9 0 + g
7 8 :
T0 4 8
6 1 ;’ g
30 43 :
+ 8 + ’
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B. How many?

Lo en

B
% they plant in all?

Aow 9 65 treeet
These children decided to clean the

park before playing. Harpreet picked |
up -_EICCCS of paper. Udai picked up
21 pieces and Leena plcked up 16
pieces. How many pieces did they

plcE up in al in all?

ADDITION WITH REGROUPING

Regrouping to make 10
Add 24 and 6 on the abacus.

STEP |

24 =
STEP 2

8 8

2 tens + 4 ones

Sp, /‘('e
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To add 6 to 24, you have to
add 6 beads in the ones spike.

There will be 4 + 6 =10
beads in the ones spike.

10 ones can be regrouped as 1 ten.

FOR THE TEACHER: An abacus is an invaluable t
you can make one with a broomstick and beads.

ook l—ron

Nikita planted 12 trees. Jose planted 22 trees.
Salma planted 31 trees. How many trees did

ool at the primary level. Bring an abacus to class. If it is not
Use clay or plasticine to make the sticks stand.
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